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STATUTORY INSTRUMENTS

2021 No. 1273

The Product Safety and Metrology
etc. (Amendment) Regulations 2021

PART 2
Provisions in respect of England and Wales, Scotland and Northern Ireland

Amendment to the Measuring Instruments Regulations 2016

6.—(1)  The Measuring Instruments Regulations 2016(1) are amended as follows.
(2)  In regulation 2(1) (interpretation)—

(a) for the definition of “disqualification mark” substitute—
““disqualification mark” means a marking in the form set out in paragraph 1 of
Schedule A1;”;

(b) for the definition of “re-qualification mark” substitute—
““re-qualification mark” means a marking in the form set out in paragraph 2 of
Schedule A1;”.

(3)  After regulation 72(7) (disqualification), insert—
“(7A)  A disqualification mark may be affixed to a relevant regulated measuring

instrument by affixing to the instrument a label which clearly, legibly and indelibly bears
the disqualification mark.”.

(4)  Before Schedule 1 insert—

“SCHEDULE A1 Regulation 2(1)

Disqualification and re-qualification marks

Disqualification mark

1. A disqualification mark must have the following form—

(1) S.I. 2016/1153; they were made in part under section 2(2) of the European Communities Act 1972 and were saved by virtue
of section 2(2)(a) of the European Union (Withdrawal) Act 2018; relevant amending instruments are, in respect of England
and Wales and Scotland, S.I. 2019/696 and in respect of Northern Ireland, S.I. 2020/1112 and S.I. 2020/1460.

http://www.legislation.gov.uk/id/uksi/2016/1153
http://www.legislation.gov.uk/id/uksi/2019/696
http://www.legislation.gov.uk/id/uksi/2020/1112
http://www.legislation.gov.uk/id/uksi/2020/1460


Document Generated: 2023-04-25
Status:  This is the original version (as it was originally made). This
item of legislation is currently only available in its original format.

Re-qualification mark

2. A re-qualification mark must have the following form—
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